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1. Following organizational entities can be included in MSH Sending facility Field 

a) The organizational entity responsible for sending application

b) The responsible unit

c) Head of Department 

d) None of the above

2. Required fields in FHS is/are  

I. File Name/ID

II. File Encoding Characters

III. File Field Separator

IV. File Control ID

A. I, II, III

B. I, II

C. II, III

D. I, II, III, IV

3. The encoding character that represents the ASCII value 92 is

a. ~

b. \

c. &

d. /

4. Which of the following Hierarchic Definition is valid?

I. Pathlab^PL.UCF.UC^L

II. ^PL.UCF.UC^L

III. Pathlab

IV. Pathlab^^L

A). I only

B). I and III Only

C). I, II, and III Only

D). I, II, and IV Only

5. The original acknowledgment protocol is equivalent to the enhanced acknowledgment protocol with

A). MSH-15 = AL and MSH-16 = AL, and the applica​tion acknowledgment message with MSH-15 = NE

B). MSH-15 = NE and MSH-16 = AL, and the applica​tion acknowledgment message with MSH-15 = NE

C). MSH-15 = NE and MSH-16 = AL, and the applica​tion acknowledgment message with MSH-15 = AL

D). MSH-15 = NE and MSH-16 = NE, and the applica​tion acknowledgment message with MSH-15 = NE

6. The hex value for Segment separator is?

A). Hex 0A

B). Hex 0C

C). Hex 0D

D). Hex 0E

7. Which of the following are allowed in future 2.x versions of HL7: 

I. New messages

II. New segments 

III. New fields

IV. New components
A). I, II, III, and IV

B). I, II and III only 

C). I, II, and IV only 

D). I, III, and IV only 

E). II, III, and IV only 

8. Which is the single byte character, which stands for ASCII:

A). \C2842\

B). \C2D41\

C). \C2D42\

D). \C2D4C\

9. HL7 does not take responsibilty for

A). Data Security

B). Interface engine

C). Acknowledgement

D). Relationship between persons

10. Field length is 

A). Based on data type lengths

B). Calculated to include the component and subcomponent separator

C). Repetition separator is not included in calculating the maximum length

D). None of the above

11. Which of the following is used for End highlighting?

A). \H\

B). \E\

C). \N\

D). \G\

12. Which of the following may be deprecated?

A). HL7 tables

B). User- defined tables

C). An entry in the Imported external tables

D). Reference to external tables.

13. What acknowledgement code is sent when the receiving system fails to process the message for reasons unrelated to its content or format like system down or internal error?

A). AC

B). AR

C). AA

D). AE

14. In the segment attribute table repetition information is provided in the column labeled:

A). RP

B). RP#

C). RP/#

D). RP\#

15. The escape sequence \C2D4C\ represents the following character set

A). ASCII

B). Arabic

C). Hebrew

D). Cyrillic

16. \.sk + 3\ means

A). skip 3 vertical spaces

B). skip 3 spaces to the right

C). skip 3 spaces to the left

D). None of the Above

17. Which of the following meet criteria for technical correction?

A). Incorrect section reference

B). Erroneous messages

C). Erroneous entries in HL7 tables

D). Spelling correction 

18. HL7 table 0103 defines options for 

A). Processing ID 

B). Policy Type 

C). Processing Mode

D). Name Type Code

19. \S\ denotes

A). Space

B). Sub Component Separator

C). Component Separator

D). Start Highlighting

20. Mark valid output of the following :-

\.in+4\\.ti-4\ 1.  The cardiomediastinal silhouette is now within normal limits.\.br\\.ti-4\ 2.   Lung fields show minimal ground glass appearance.\.br\\.ti-4\

A). 1. The cardiomediastinal silhouette is now within normal limits.
  2. Lung fields show minimal ground glass appearance.

B). 1. The cardiomediastinal silhouette is now within normal limits. 2. Lung fields show minimal ground glass appearance

C). 1. The cardiomediastinal silhouette is now within normal limits. 

      2. Lung fields show minimal ground glass appearance
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